Miskolc Mathematical Notes

# REPDIGITS AS SUMS OF THREE HALF-COMPANION PELL NUMBERS 

ABDULLAH ÇAĞMAN

Received 23 February, 2022


#### Abstract

In this paper, we find all repdigits which can be expressed as the sum of three Halfcompanion Pell numbers. To prove our main result, we use the combined approach of lower bounds for linear forms in logarithms of algebraic numbers and a version of the Baker Davenport reduction method.


2010 Mathematics Subject Classification: 11B37; 11D45; 11 J86.
Keywords: repdigit, Half-companion Pell numbers, diophantine equation, Baker's theory

## 1. Introduction

Diophantine equations involving recurrence sequences have been studied for a long time. One of the most interesting of these equations is the equations involving repdigits.

A repdigit, short for "repeated digit", $T$ is a natural number composed of repeated instances of the same digit in its decimal expansion. That is, $T$ is of the form

$$
x \cdot\left(\frac{10^{t}-1}{9}\right)
$$

for some positive integers $x, t$ with $t \geq 1$ and $1 \leq x \leq 9$.
Some of the most recent papers related to the Diophantine equations and repdigits with well known recurrence sequences are [2-5, 7, 8, 10, 11]. In this note, we use Half-companion Pell sequence in our main result.

The companion Pell numbers or Pell-Lucas numbers are defined by the recurrence relation

$$
Q_{n}= \begin{cases}2 & \text { if } n=0 \\ 2 & \text { if } n=1 \\ 2 Q_{n-1}+Q_{n-2} & \text { otherwise }\end{cases}
$$

The first few terms of the sequence are (sequence A002203 in the OEIS): 2, 2, 6, 14, $34,82,198,478, \ldots$.

Binet's formula for Companion Pell numbers numbers is

$$
Q_{n}=\varphi^{n}+\psi^{n}
$$

where $\varphi=(1+\sqrt{2})$ (the silver ratio) and $\psi=(1-\sqrt{2})$ are roots of the characteristic equation $x^{2}-2 x-1=0$. From this formula, one can easiliy prove that

$$
\varphi^{n-2} \leq Q_{n} \leq 2 \varphi^{n-1}
$$

by the induction on $n$.
Half-companion Pell numbers $H_{n}$ that play an important role in obtaning LucasBalancing numbers $C_{n}$ as $C_{n}=H_{2 n}$ are defined by $H_{n}=Q_{n} / 2$. So, it is obvious that

$$
H_{n}=\frac{\varphi^{n}+\psi^{n}}{2}
$$

Further, for every positive integer $n \geq 2$,

$$
\begin{equation*}
\varphi^{n-1} \leq 2 H_{n} \leq \varphi^{n+1} \tag{1.1}
\end{equation*}
$$

In this study, our main result is the following:
Theorem 1.1. All nonnegative integer solutions ( $n, m, k, x, t$ ) with $1 \leq x \leq 9$ satisfying the Diophantine equation

$$
\begin{equation*}
N=H_{n}+H_{m}+H_{k}=x \cdot\left(\frac{10^{t}-1}{9}\right) \tag{1.2}
\end{equation*}
$$

as follows:

$$
\begin{aligned}
(n, m, k, x, t) \in & \{(0,1,1,3,1),(0,1,2,5,1),(0,1,3,9,1),(0,2,1,5,1),(0,2,2,7,1), \\
& (0,2,3,1,2),(0,3,1,9,1),(0,3,2,1,2),(1,1,1,3,1),(1,1,2,5,1), \\
& (1,1,3,9,1),(1,2,1,5,1),(1,2,2,7,1),(1,2,3,1,2),(1,3,1,9,1), \\
& (1,3,2,1,2),(2,1,1,5,1),(2,1,2,7,1),(2,1,3,1,2),(2,2,1,7,1) \\
& (2,2,2,9,1),(2,3,1,1,2),(3,1,1,9,1),(3,1,2,1,2),(3,2,1,1,2), \\
& (3,3,5,5,2),(3,5,3,5,2),(4,5,5,9,2),(5,3,3,5,2),(5,4,5,9,2), \\
& (5,5,4,9,2)\}
\end{aligned}
$$

## 2. Preliminaries

Before proceeding with the proof of our main result, let us give some necessary information for proof. We give the definition of the logarithmic height of an algebraic number and its some properties.

Definition 2.1. Let $z$ be an algebraic number of degree $d(z)$ with minimal polynomial

$$
f(x)=a_{0} x^{d(z)}+a_{1} x^{d(z)-1}+\cdots+a_{d(z)}=a_{0} \cdot \prod_{i=1}^{d(z)}\left(x-z_{i}\right)
$$

where $a_{i}$ 's are relatively prime integers with $a_{0}>0$ and $z_{i}$ 's are conjugates of $z$. Then

$$
h(z)=\frac{1}{d(z)}\left(\log a_{0}+\sum_{i=1}^{d(z)} \log \left(\max \left\{\left|z_{i}\right|, 1\right\}\right)\right)
$$

is called the logarithmic height of $z$. The following proposition gives some properties of logarithmic height that can be found in [12].

Proposition 2.1. Let $z, z_{1}, z_{2}, \ldots, z_{t}$ be elements of an algebraic closure of $\mathbb{Q}$ and $m \in \mathbb{Z}$. Then
(1) $h\left(z_{1} \cdots z_{t}\right) \leq \sum_{i=1}^{t} h\left(z_{i}\right)$
(2) $h\left(z_{1}+\cdots+z_{t}\right) \leq \log t+\sum_{i=1}^{t} h\left(z_{i}\right)$
(3) $h\left(z^{m}\right)=|m| h(z)$.

We will use the following theorem (see [9] or Theorem 9.4 in [1]) for proving our results.

Theorem 2.1. Let $z_{1}, z_{2}, \ldots, z_{s}$ be nonzero elements of algebraic number field $\mathbb{F}$ of degree $D$ over $\mathbb{Q}$ and let $b_{1}, b_{2}, \ldots, b_{s} \in \mathbb{Z}$. Set

$$
B:=\max \left\{\left|b_{1}\right|, \ldots,\left|b_{s}\right|\right\}
$$

and

$$
\Lambda:=z_{1}^{b_{1}} \ldots z_{s}^{b_{s}}-1
$$

If $\Lambda$ is nonzero, then

$$
\log |\Lambda|>-3 \cdot 30^{s+4} \cdot(s+1)^{5.5} \cdot D^{2} \cdot(1+\log D) \cdot(1+\log (s B)) \cdot A_{1} \cdots A_{s}
$$

where

$$
A_{i} \geq \max \left\{D \cdot h\left(z_{i}\right),\left|\log z_{i}\right|, 0.16\right\}
$$

for all $1 \leq i \leq s$. If $\mathbb{F}=\mathbb{R}$, then

$$
\log |\Lambda|>-1.4 \cdot 30^{s+3} \cdot s^{4.5} \cdot D^{2} \cdot(1+\log D) \cdot(1+\log B) \cdot A_{1} \cdots A_{s}
$$

Another main tool for our proof is a variant of Baker and Davenport reduction method due to [6].

Let $\psi_{1}, \psi_{2}, \varepsilon \in \mathbb{R}$ be given and let $x_{1}, x_{2} \in \mathbb{Z}$ be unknowns. Let

$$
\begin{equation*}
\Gamma=\varepsilon+x_{1} \psi_{1}+x_{2} \psi_{2} \tag{2.1}
\end{equation*}
$$

Let $c, \delta$ be positive constants. Set $X=\max \left\{\left|x_{1}\right|,\left|x_{2}\right|\right\}$. Let $X_{0}, Y$ be positive. Assume that

$$
\begin{equation*}
|\Gamma|<c \cdot \exp (-\delta \cdot Y) \tag{2.2}
\end{equation*}
$$

$$
\begin{equation*}
Y \leq X \leq X_{0} \tag{2.3}
\end{equation*}
$$

Set $\psi=-\psi_{1} / \psi_{2}$. Let the continued fraction expansion of $\psi$ be given by $\left[a_{0}, a_{1}, a_{2}, \ldots\right]$ and let the $k^{\text {th }}$ convergent of $\psi$ be $p_{k} / q_{k}$ for $k=0,1,2, \ldots$. Without loss of the generality, we may assume that $\left|\psi_{1}\right|<\left|\psi_{2}\right|$ and that $x_{1}>0$. We have the following two result from [6].

Lemma 2.1. Let

$$
A=\max _{0 \leq k \leq Y_{0}} a_{k+1}
$$

If (2.2) and (2.3) hold for $x_{1}, x_{2}$ and $\varepsilon=0$ in (2.1), then

$$
Y<\frac{1}{\delta} \log \left(\frac{c(A+2) X_{0}}{\left|\psi_{2}\right|}\right)
$$

If $\varepsilon \neq 0$, then setting $\phi=\varepsilon / \psi_{2}$ we have that

$$
\frac{\Gamma}{\psi_{2}}=\phi-x_{1} \psi+x_{2}
$$

Lemma 2.2. Let $p / q$ be a convergent of $\psi$ with $q>X_{0}$. Suppose that

$$
\|q \phi\|>\frac{2 X_{0}}{q}
$$

where $\|\cdot\|$ denotes the distance from the nearest integer. Then, the solutions of (2.2) and (2.3) satisfy

$$
Y<\frac{1}{\delta} \log \left(\frac{q^{2} c}{\left|\psi_{2}\right| X_{0}}\right) .
$$

## 3. The Proof of Theorem 1.1

Let us assume that $n \geq m \geq k, t>0$ and $x \in\{1,2, \ldots, 9\}$. A quick search in Mathematica reveals that the solutions of equation (1.2) for $0 \leq n \leq 500$ are as stated in Theorem 1.1. Exactly, the solutions of equation (1.2) are

$$
N \in\{3,5,7,9,11,55,99\}
$$

We will assume $n>500$ for the remainder of the work. Further, since Half-companion Pell numbers are all odd, (1.2) has no solution for even $x$. Thus, with $A=\{1,3,5,7,9\}$, $x \in A$.

The equations (1.1) and (1.2) imply that

$$
H_{501} \leq H_{n} \leq H_{n}+H_{m}+H_{k}=x \cdot\left(\frac{10^{t}-1}{9}\right) \leq 10^{t}-1
$$

It follows that

$$
\begin{equation*}
191 \leq \frac{\log \left(1+H_{501}\right)}{\log (10)} \leq t \tag{3.1}
\end{equation*}
$$

Now,

$$
\begin{aligned}
10^{t-1} \leq x \cdot\left(\frac{10^{t}-1}{9}\right)=H_{n}+H_{m}+H_{k} & \leq 3 H_{n} \\
& \leq \frac{3}{2}\left(\varphi^{n}+|\psi|^{n}\right)<\frac{3}{2}\left(\varphi^{n}+1\right)<\frac{3}{2} \varphi^{n}<\varphi^{n+0.47}
\end{aligned}
$$

which means that

$$
2.61(t-1)<(t-1) \frac{\log 10}{\log \varphi}<n+0.47
$$

It can be easily seen from the last inequality that

$$
t<2.61 t-3.08<n
$$

and from (3.1) that

$$
191<t<n .
$$

Let us rewrite the equation (1.2) as

$$
\begin{equation*}
\frac{\varphi^{n}+\psi^{n}}{2}+\frac{\varphi^{m}+\psi^{m}}{2}+\frac{\varphi^{k}+\psi^{k}}{2}=x \cdot\left(\frac{10^{t}-1}{9}\right) \tag{3.2}
\end{equation*}
$$

The equality (3.2) can be simply converted to

$$
\begin{equation*}
\frac{\varphi^{n}+\psi^{n}}{2}+\frac{\varphi^{m}+\psi^{m}}{2}+\frac{\varphi^{k}+\psi^{k}}{2}-\frac{x \times 10^{t}}{9}=-\frac{x}{9} \tag{3.3}
\end{equation*}
$$

In order to obtain a bound on $n$, we examine equation (3.3) in three different cases.
Case 1. We have that

$$
\frac{\varphi^{n}}{2}\left(1+\varphi^{m-n}+\varphi^{k-n}\right)-\frac{x \times 10^{t}}{9}=-\frac{x}{9}-\frac{\Psi^{n}}{2}-\frac{\psi^{m}}{2}-\frac{\Psi^{k}}{2}
$$

This yields

$$
\left|\frac{\varphi^{n}}{2}\left(1+\varphi^{m-n}+\varphi^{k-n}\right)-\frac{x \times 10^{t}}{9}\right| \leq \frac{x}{9}+\frac{|\psi|^{n}}{2}+\frac{|\psi|^{m}}{2}+\frac{|\psi|^{k}}{2}<\frac{1}{2}(2+3)
$$

From this inequality, we get

$$
\begin{equation*}
\left|\frac{\varphi^{n}}{2}\left(1+\varphi^{m-n}+\varphi^{k-n}\right)-\frac{x \times 10^{t}}{9}\right|<\frac{\varphi^{2}}{2} \tag{3.4}
\end{equation*}
$$

By multiplying both sides of the inequality (3.4) by

$$
\frac{2 \varphi^{-n}}{1+\varphi^{m-n}+\varphi^{k-n}}
$$

we obtain

$$
\begin{equation*}
\left|1-\varphi^{-k} 10^{t}\left(\frac{2 x}{9\left(\varphi^{n-k}+\varphi^{m-k}+1\right)}\right)\right|<\frac{\varphi^{2-n}}{1+\varphi^{m-n}+\varphi^{k-n}}<\varphi^{2-n} \tag{3.5}
\end{equation*}
$$

Now let us check whether the obtained inequality (3.5) conforms to the hypothesis in Theorem 2.1. Set

$$
\Delta_{1}:=1-\varphi^{-k} 10^{t}\left(\frac{2 x}{9\left(\varphi^{n-k}+\varphi^{m-k}+1\right)}\right)
$$

Suppose that $\Delta_{1}=0$. Then, we have

$$
\varphi^{n}+\varphi^{m}+\varphi^{k}=\frac{10^{t} \times 2 x}{9}
$$

and hence, $\varphi^{n}+\varphi^{m}+\varphi^{k} \in \mathbb{Q}$, which is not possible for any $n, m, k>0$. Therefore $\Delta_{1} \neq 0$. Thus, we can apply Theorem 2.1 to the inequality (3.5). Take,

$$
z_{1}=\varphi, \quad z_{2}=10, \quad z_{3}=\frac{2 x}{9\left(\varphi^{n-k}+\varphi^{m-k}+1\right)}, \quad b_{1}=-k, \quad b_{2}=t, \quad b_{3}=1
$$

where $z_{1}, z_{2}, z_{3} \in \mathbb{Q} \sqrt{2}$ and $b_{1}, b_{2}, b_{3} \in \mathbb{Z}$. Since $z_{i} \in \mathbb{Q} \sqrt{2}$ for $i \in\{1,2,3\} D=2$. So, we can take

$$
\begin{aligned}
& 0.9=A_{1} \geq 2 \cdot h(\varphi)=2 \cdot \frac{1}{2} \log (\varphi)=\log (\varphi) \sim 0.88 \\
& 4.7=A_{2} \geq 2 \cdot h(10)<2 \cdot \log (10) \sim 4.6
\end{aligned}
$$

Let us compute $A_{3}$. We have

$$
z_{3}=\frac{2 x}{9\left(\varphi^{n-k}+\varphi^{m-k}+1\right)}<2
$$

and

$$
z_{3}^{-1}=\frac{9\left(\varphi^{n-k}+\varphi^{m-k}+1\right)}{2 x}<\frac{27}{2} \varphi^{n-k}
$$

So, $\left|\log \left(z_{3}\right)\right|<3+(n-k) \log \varphi$. Also,

$$
\begin{aligned}
h\left(z_{3}\right) & \leq h(2 x)+h(9)+h\left(\varphi^{n-k}+\varphi^{m-k}+1\right) \\
& \leq h(18)+h(9)+h\left(\varphi^{n-k}+\varphi^{m-k}\right)+\log 2 \\
& \leq h(18)+h(9)+\log 2+h\left(\varphi^{m-k}\left(\varphi^{n-m}+1\right)\right) \\
& \leq \log 18+\log 9+2 \log 2+h\left(\varphi^{m-k}\right)+h\left(\varphi^{n-m}\right) \\
& \leq \log 18+\log 9+2 \log 2+(m-k) h(\varphi)+(n-m) h(\varphi) \\
& =\log 18+\log 9+2 \log 2+\frac{1}{2}(n-k) \log \varphi .
\end{aligned}
$$

Therefore, $2 h\left(z_{3}\right) \leq 13+(n-k) \log \varphi$. This yields

$$
13+(n-k) \log \varphi=A_{3} \geq \max \left\{2 h\left(z_{3}\right),\left|\log \left(z_{3}\right)\right|, 0.16\right\}
$$

Finally, $B=\max \{k, t, 1\}<n$. Set $K_{1}=1.4 \cdot 30^{6} \cdot 3^{4.5} \cdot 2^{2} \cdot(1+\log 2) \cdot A_{1} \cdot A_{2}$. By applying Theorem 2.1 to $\Delta_{1}$, we get

$$
\log \left|\Delta_{1}\right|>-K_{1} \cdot(1+\log (n)) \cdot(13+(n-k) \log \varphi)
$$

and by using the inequality (3.5), we obtain

$$
\begin{equation*}
n \log \varphi<2 \log \varphi+K_{1} \cdot(1+\log (n)) \cdot(13+(n-k) \log \varphi) \tag{3.6}
\end{equation*}
$$

Case 2. Let us rewrite the equation (3.3) as

$$
\begin{equation*}
\frac{\varphi^{n}}{2}\left(1+\varphi^{m-n}\right)-\frac{x \times 10^{t}}{9}=-\frac{x}{9}-\frac{\psi^{n}}{2}-\frac{\psi^{m}}{2}-\frac{\varphi^{k}}{2}-\frac{\psi^{k}}{2} \tag{3.7}
\end{equation*}
$$

This equation yields

$$
\begin{aligned}
\left|\frac{\varphi^{n}}{2}\left(1+\varphi^{m-n}\right)-\frac{x \times 10^{t}}{9}\right| & \leq \frac{x}{9}+\frac{|\psi|^{n}}{2}+\frac{|\psi|^{m}}{2}+\frac{\varphi^{k}}{2}+\frac{|\psi|^{k}}{2} \\
& \leq 1+\frac{1}{2}+\frac{1}{2}+\frac{\varphi^{k}}{2}+\frac{1}{2} \\
& \leq \frac{1}{2}(2+4) \varphi^{k}
\end{aligned}
$$

and from the last inequality we have that

$$
\begin{equation*}
\left|\frac{\varphi^{n}}{2}\left(1+\varphi^{m-n}\right)-\frac{x \times 10^{t}}{9}\right|<\frac{\varphi^{k+3}}{2} \tag{3.8}
\end{equation*}
$$

By multiplying both sides of the inequality (3.8) by

$$
\frac{2 \varphi^{-n}}{1+\varphi^{m-n}}
$$

we get

$$
\left|1-\varphi^{-m} 10^{t}\left(\frac{2 x}{9\left(1+\varphi^{n-m}\right)}\right)\right|<\frac{\varphi^{k-n+3}}{1+\varphi^{m-n}}
$$

Finally, we can write

$$
\begin{equation*}
\left|1-\varphi^{-m} 10^{t}\left(\frac{2 x}{9\left(1+\varphi^{n-m}\right)}\right)\right|<\varphi^{k-n+3} \tag{3.9}
\end{equation*}
$$

Set

$$
\Delta_{2}:=1-\varphi^{-m} 10^{t}\left(\frac{2 x}{9\left(1+\varphi^{n-m}\right)}\right)
$$

Similar to the proof given in the previous case, it can be seen easily that $\Delta_{2} \neq 0$. Using the notations in Theorem 2.1, we deduce that

$$
z_{1}=\varphi, \quad z_{2}=10, \quad z_{3}=\frac{2 x}{9\left(1+\varphi^{n-m}\right)}, \quad b_{1}=-m, \quad b_{2}=t, \quad b_{3}=1
$$

where $z_{1}, z_{2}, z_{3} \in \mathbb{Q} \sqrt{2}$ and $b_{1}, b_{2}, b_{3} \in \mathbb{Z}$. Since $z_{i} \in \mathbb{Q} \sqrt{2}$ for $i \in\{1,2,3\} D=2$ and $B=\max \{m, t, 1\}<n$. So, we can take $A_{1}=0.9$ and $A_{2}=4.7$ as in the previous case. Let us compute $A_{3}$. We have

$$
z_{3}=\frac{2 x}{9\left(1+\varphi^{n-m}\right)}<2
$$

and

$$
z_{3}^{-1}=\frac{9\left(1+\varphi^{n-m}\right)}{2 x}<\frac{18}{2} \varphi^{n-m},
$$

so $\left|\log \left(z_{3}\right)\right|<3+(n-m) \log \varphi$. Also,

$$
\begin{aligned}
h\left(z_{3}\right) & \leq h(2 x)+h(9)+h\left(1+\varphi^{n-m}\right) \\
& \leq h(18)+h(9)+\log 2+(n-m) h(\varphi) \\
& =h(18)+h(9)+\log 2+\frac{1}{2}(n-m) \log \varphi .
\end{aligned}
$$

Therefore, $2 h\left(z_{3}\right) \leq 12+(n-m) \log \varphi$, and so

$$
12+(n-m) \log \varphi=A_{3} \geq \max \left\{2 h\left(z_{3}\right),\left|\log \left(z_{3}\right)\right|, 0.16\right\}
$$

Applying Theorem 2.1 to $\Delta_{2}$ gives us

$$
\log \left|\Delta_{2}\right|>-K_{1} \cdot(1+\log (n)) \cdot(12+(n-m) \log \varphi)
$$

with $K_{1}$ as given in the previous case. By using the inequality (3.9), we get

$$
\begin{equation*}
(n-k) \log \varphi<3 \log \varphi+K_{1} \cdot(1+\log (n)) \cdot(12+(n-m) \log \varphi) \tag{3.10}
\end{equation*}
$$

Case 3. Let us consider equation (3.3) for the last time as follows:

$$
\begin{equation*}
\frac{\varphi^{n}}{2}-\frac{x \times 10^{t}}{9}=-\frac{x}{9}-\frac{\psi^{n}}{2}-\frac{\varphi^{m}}{2}-\frac{\psi^{m}}{2}-\frac{\varphi^{k}}{2}-\frac{\psi^{k}}{2} \tag{3.11}
\end{equation*}
$$

This yields

$$
\begin{aligned}
\left|\frac{\varphi^{n}}{2}-\frac{x \times 10^{t}}{9}\right| & \leq \frac{x}{9}+\frac{|\psi|^{n}}{2}+\frac{\varphi^{m}}{2}+\frac{|\psi|^{m}}{2}+\frac{\varphi^{k}}{2}+\frac{|\psi|^{k}}{2} \\
& \leq 1+\frac{1}{2}+\frac{\varphi^{m}}{2}+\frac{1}{2}+\frac{\varphi^{k}}{2}+\frac{1}{2} \leq \frac{1}{2}(2+5) \varphi^{m}
\end{aligned}
$$

and so

$$
\begin{equation*}
\left|\frac{\varphi^{n}}{2}-\frac{x \times 10^{t}}{9}\right|<\frac{\varphi^{m+3}}{2} \tag{3.12}
\end{equation*}
$$

Multiplying through (3.12) by $2 \varphi^{-n}$, we obtain

$$
\begin{equation*}
\left|1-\varphi^{-n} 10^{t}\left(\frac{2 x}{9}\right)\right|<\varphi^{m-n+3} \tag{3.13}
\end{equation*}
$$

Set

$$
\Delta_{3}:=1-\varphi^{-n} 10^{t}\left(\frac{2 x}{9}\right)
$$

Again it is clear that $\Delta_{3} \neq 0$. We apply Theorem 2.1 with the data

$$
z_{1}=\varphi, \quad z_{2}=10, \quad z_{3}=\frac{2 x}{9}, \quad b_{1}=-n, \quad b_{2}=t, \quad b_{3}=1
$$

where $z_{1}, z_{2}, z_{3} \in \mathbb{Q} \sqrt{2}$ and $b_{1}, b_{2}, b_{3} \in \mathbb{Z}$. Since $z_{i} \in \mathbb{Q} \sqrt{2}$ for $i \in\{1,2,3\} D=2$. We have the same $A_{1}$ and $A_{2}$ as in the previous cases. Let us compute $A_{3}$.

$$
z_{3}=\frac{2 x}{9} \leq 2
$$

and

$$
z_{3}^{-1}=\frac{9}{2 x} \leq \frac{9}{2}
$$

so $\left|\log z_{3}\right|<1.51$. Also,

$$
h\left(z_{3}\right) \leq h(2 x)+h(9) \leq h(18)+h(9)
$$

which implies that

$$
2 h\left(z_{3}\right)<10.2
$$

Therefore, we obtain

$$
10.2=A_{3} \geq \max \left\{2 h\left(z_{3}\right),\left|\log z_{3}\right|, 0.16\right\}
$$

By applying Theorem 2.1 to (3.13), we get

$$
(n-m) \log \varphi<3 \log \varphi+10.2 \cdot K_{1} \cdot(1+\log n)<10.4 \cdot K_{1} \cdot(1+\log n)
$$

Combining this result with the inequality (3.10), we get

$$
\begin{aligned}
(n-k) \log \varphi & <3 \log \varphi+K_{1} \cdot(1+\log (n)) \cdot\left(12+10.4 \cdot K_{1} \cdot(1+\log (n))\right) \\
& <10.6 \cdot K_{1}^{2} \cdot(1+\log (n))^{2}
\end{aligned}
$$

The last result and the inequality (3.6) show that

$$
\begin{aligned}
n \log \varphi & <2 \log \varphi+K_{1} \cdot(1+\log (n)) \cdot\left(13+10.6 \cdot K_{1}^{2} \cdot(1+\log (n))^{2}\right) \\
& <10.8 \cdot K_{1}^{3} \cdot(1+\log (n))^{3}
\end{aligned}
$$

Simplifying the last inequality we obtain

$$
n \leq 9.68 \times 10^{44}
$$

Now let us try to lower this bound. Set

$$
\Gamma_{1}=-n \log \varphi+t \log 10+\log \left(\frac{2 x}{9}\right)
$$

If we insert the $\Gamma_{1}$ into the equation (3.11), we get

$$
\frac{\varphi^{n}}{2}\left(1-e^{\Gamma_{1}}\right)=-\frac{x}{9}-\frac{\psi^{n}}{2}-H_{m}-H_{k}<0
$$

and so $\Gamma_{1}>0$. Thus, we obtain

$$
0<\Gamma_{1}<e^{\Gamma_{1}}-1<\varphi^{m-n+3}
$$

from the inequality (3.13). It follows that

$$
\left|\Gamma_{1}\right|<\varphi^{3.1} \exp (-0.88(n-m))
$$

with $n-m \leq n \leq 9.68 \times 10^{44}$. If we divide $\Gamma_{1}$ by $\log 10$, we get

$$
\frac{\Gamma_{1}}{\log 10}=\frac{\log (2 x / 9)}{\log 10}-n \frac{\log \varphi}{\log 10}+t
$$

Hence, we can take

$$
\begin{array}{llll}
c=\varphi^{3.1}, & \delta=0.88, & X_{0}=9.68 \times 10^{44}, & \phi=\frac{\log (2 x / 9)}{\log 10} \\
\psi=\frac{\log \varphi}{\log 10}, & \psi_{1}=-\log \varphi, & \psi_{2}=\log 10, & \varepsilon=\log (2 x / 9)
\end{array}
$$

For all values of $x \in\{1,2, \ldots, 9\}, q=q_{99}$ satisfies the conditions $q>X_{0}$ and $\|q \phi\|>$ $\frac{2 X_{0}}{q}$ given in the Lemma 2.2. So, applying Lemma 2.2, we obtain

$$
n-m<128
$$

Set

$$
\Gamma_{2}=-m \log \varphi+t \log 10+\log \left(\frac{2 x}{9\left(\varphi^{n-m}+1\right)}\right)
$$

From (3.7), we have that

$$
\frac{\varphi^{n}}{2}\left(1+\varphi^{m-n}\right)\left(1-e^{\Gamma_{2}}\right)=-\frac{x}{9}-\frac{\psi^{n}}{2}-\frac{\psi^{m}}{2}-H_{k}<0
$$

which implies $\Gamma_{2}>0$. From the inequality (3.9), we obtain

$$
0<\Gamma_{2}<e^{\Gamma_{2}}-1<\varphi^{k-n+3}
$$

Hence,

$$
\left|\Gamma_{2}\right|<\varphi^{3.1} \exp (-0.88(n-k))
$$

where $n-k \leq n \leq 9.68 \times 10^{44} . q=q_{103}$ satisfies the hypothesis of Lemma 2.2 and applying the Lemma 2.2 , we obtain $n-k \leq 141$. Finally, set

$$
\Gamma_{3}=-k \log \varphi+t \log 10+\log \left(\frac{2 x}{9\left(\varphi^{n-k}+\varphi^{m-k}+1\right)}\right)
$$

It is easy to see from previous trials that $\Gamma_{3}>0$. So, the inequality (3.5) implies that

$$
0<\Gamma_{3}<e^{\Gamma_{3}}-1<\varphi^{2-n}<\varphi^{2.1} \cdot \exp (-0.88 \cdot n)
$$

which yields

$$
\left|\Gamma_{3}\right|<\varphi^{2.1} \cdot \exp (-0.88 \cdot n)
$$

We see that hypothesis of Lemma 2.2 holds for $q=q_{109}$. Thus, applying Lemma 2.2 we obtain $n<155$ which contradicts our assumption that $n>500$.

This completes our proof.

## 4. Conclusion

In this paper we have given all solutions of equation (1.2). A similar work can be done for the quadruple sum.

## Acknowledgments

We would like to thank the anonymous reviewers for their suggestions which helped to improve our article.

## Conflict of Interest

The author declare no conflicts of interest.

## References

[1] Y. Bugeaud, M. Mignotte, and S. Siksek, "Classical and modular approaches to exponential Diophantine equations I. Fibonacci and Lucas perfect powers," Annals of Mathematics, pp. 969-1018, 2006, doi: 10.4007/annals.2006.163.969.
[2] A. Çağman, "An approach to Pillai's problem with the Pell sequence and the powers of 3," Miskolc Mathematical Notes, vol. 22, no. 2, pp. 599-610, 2021, doi: 10.18514/MMN.2021.3659.
[3] A. Çağman, "Repdigits as product of Fibonacci and Pell numbers," Turkish Journal of Science, vol. 6, no. 1, pp. 31-35, 2021.
[4] P. Coufal and P. Trojovskỳ, "Repdigits as product of terms of k-bonacci sequences," Mathematics, vol. 9, no. 6, p. 682, 2021, doi: 10.3390/math9060682.
[5] M. Ddamulira, "Repdigits as sums of three Padovan numbers," Boletín de la Sociedad Matemática Mexicana, pp. 1-15, 2020, doi: 10.1007/s40590-019-00269-9.
[6] B. M. De Weger, "Algorithms for Diophantine equations," CWI tracts, vol. 65, 1989.
[7] F. Erduvan, R. Keskin, and Z. Şiar, "Repdigits base b as products of two Lucas numbers," Quaestiones Mathematicae, pp. 1-11, 2021, doi: 10.2989/16073606.2020.1787539.
[8] F. Luca, "Repdigits as sums of three Fibonacci numbers," Mathematical Communications, vol. 17, no. 1, pp. 1-11, 2012.
[9] E. M. Matveev, "An explicit lower bound for a homogeneous rational linear form in the logarithms of algebraic numbers. ii," Izvestiya: Mathematics, vol. 64, no. 6, p. 1217, 2000, doi: 10.1070/IM2000v064n06ABEH000314.
[10] S. G. Rayaguru and G. K. Panda, "Repdigits as sums of two associated Pell numbers," Applied Mathematics E-Notes, vol. 21, pp. 402-409, 2021.
[11] Z. Siar, F. Erduvan, and R. Keskin, "Repdigits as products of two Pell or Pell-Lucas numbers," Acta Mathematica Universitatis Comenianae, vol. 88, no. 2, pp. 247-256, 2019.
[12] N. P. Smart, The algorithmic resolution of Diophantine equations: a computational cookbook. Cambridge University Press, 1998, vol. 41.

## Author's address

## Abdullah Çağman

Ağrı İbrahim Çeçen University, Department of Mathematics, 04100 Ağrı, Turkey
E-mail address: acagman@agri.edu.tr

